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5 100m 4 EH #A X= 2 | 10/21 |+0.7 117 17 9
2] 100m 5 [FEH S BXKRE 1 |10/21]-0.1 117 13 6
5 100m 6 B & AER 2 | 10/21 |+2.1 107 89 5
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2] 200m 1 LRS! FEZERLE 2 |10/22(-08 227 11 4
2] 200m 3 # EBX BXKRE 2 | 10/22 |-2.0 22" 69 5
5 200m 4 PESUI- HBEER 2 [10/22 DNS
ES] 200m 5 g Bk TEBRFER 2 |10/22|-0.8 227 75 17
CE] 200m 6 E&N EBH KE— 2 |10/22 |-2.0 227 85 7
2] 200m 7 BiE Rk ABR 2 |10/22|-1.6 22”7 35 5
CE] 400m 1 £ K SHFNEE 2 [ 10/21 49" 43 3 497 34 4
g  400m 2 Hi# =& EFEFRR 2 | 10/21 517 07 7
B  400m 4 E B 8 2 | 10/21 50 88 7
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5 800m 5 H# =E & 1 | 10/22 17 59”7 52 7
5 800m 6 TE FRE SHFN 2 [10/22 17 59" 35 6
5 800m 7 1M Eih J11 8 2 | 10/22 1" 597 76 6
5 1500m 7 hiE AL 2 [ 10/21 4’ 157 15 12
B 1500m 8 Epk 183 B 2 | 10/21 4 117 26 12
5 1500m 9 e RE HBE 2 [ 10/21 4 257 70 14
g 1500m 10 BEH R FREEHLE 1 [ 10/21 4° 117 52 13
5 1500m 11 FEH &KX SHFN 1 | 10/21 4° 06" 16 8
5 1500m 12 B & SLHF 2 | 10/21 4° 157 07 11
B  5000m 5 KL B EBE 1 ]10/22 DNS
B 5000m 6 e R MRS 1 | 10/22 15’ 217 39 13
B  5000m 11 XH —%;& ARE— 2 | 10/22 16’ 35”7 82 22
B  5000m 12 FRE e namaL 2 [10/22 15" 277 94 16
% 5000m 14 FHE X JIBEER 2 [10/22 15’ 177 39 10
B  5000m 15 ¥ £ AR 1 ]110/22 16° 137 23 20
B  110mH 2 N EH BEX 1 [10/21 |+1.0 147 97 3 [+14 147 73 5
£  110mH 4 FiE B A X 2 |10/21 |+1.0 147 89 2 [+14 147 98 8
B  110mH 5 fatg Bt a2 1 | 10/21 [+0.7 157 72 6
£  110mH 6 25 E3 TEBXfER 1 | 10/21 |+0.1 15”7 56 6
g 110mH 7 ik 19 QLR 2 [10/21 [+10 15”7 40 6
B 110mH 8 KH Eif N 1 [10/21 |+1.0 157 60 9
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B #ak 2 B F A 2 | 10/21 4m 20 7
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5 1 Bk 3 = F#H BEX 2 | 10/21 +1.2 6m 90 3
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X  400m 3 hLUEZ 2 FriRAE 2 | 10/21 597 30 3 01" 36
X  400m 4 fEE M 2% 2 | 10/21 59 53 4
X  400m 5 wH #HE ME 1 | 10/21 17 01" 23 6
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Z  1500m 7 INR BTE RE— 2 | 10/21 4° 527 16 6
Z  3000m 3 2=l MR =k i 2 | 10/22 DNS
#Z  3000m 4 RE F1E BEX 1 |10/22 9" 527 29 7
. 3000m 5 BK BB AL 2 [10/22 10" 227 13 20
#Z  3000m 6 INK BT AE— 2 |10/22 10 16”7 70 17
Z  3000m 7 kRK FIT HBE% 2 |10/22 107 117 33 13
Z  3000m 8 KB HEIK SLHEF 2 |10/22 10" 477 62 24
% 110mH 1 Hk €4 BT 2 | 10/21|-04 147 02 1 [+04 137 93 2
% 110mH 1 FEK B ERZF R 1 | 10/21 [+1.7 15”7 83 8
% 110mH 3 AH #A 8 1 110721 [+1.7 147 76 2 [+0.4 147 74 7
Z  110mH 6 HEF OEP TEBfER 2 | 10/21|-04 16”7 08 8
Z  110mH 7 hIg HE BEX 1 | 10/21 DNS
Z  110mH 8 R bk LNITE-q 2 |[10/21|-04 15”7 95 7




F270 BAREBESFFREBREFTAELFBEEFIERSKER BE-BES 1021~1022
N _ e R
’E‘I 0 F 'ﬁ E = L = L
wO#EE RRE K & e e T S T
% 400mH 2 A B®E Eafi 3=l 2 [10/22 1" 03”7 86 1 17 027 33 1
% 400mH 3 XE TR AR 2 |10/22 DNS
% 400mH 4 ETE XK R0 2 [10/22 1" 047 65 4 17 06" 34 8
T 400mH 5 =l BF SR 2 |10/23 17 057 55 5
%  400mH 6 L =8 UE 2 |10/22 1 087 33 6
%  400mH 7 ERETE FHE S ERE 2 |110/22 17 07" 22 6
Z 5000mW 2 ANl HBE AEER 1 |10/21 24’ 50”7 03 4
% 5000mW 3 gk S AR 2 [ 10/21 26° 09" 88 8
% 5000mW 4 wmE B AL 2 [ 10/21 28° 01”7 90 15
% 5000mW 5 WA BEF b p =l 2 [10/22 26° 567 01 11
% 5000mW 6 HH OER e 3=Lik-y 1 | 10/21 DQ,K3
Z 5000mW 7 EEEEES BRAE 2 | 10/21 28" 35”7 83 18
48" 17 3
(BHAE FEQ-7010 YHQ)-HE EF)-ESE BEQ)
X 4%X100mR 1 FEZERE 10/21 —= 7T | * - il 61* >
(BHAE FEQ-7010 YHQ)-BE &HL0)-SE BEQ))
48" 03 2 | 47" 82 4
Z 4x100mR 2 yidl 10/21
m TEBRER Bl FHQ) RE 2B ER BREQ-HA KIEQ)
. 48" 96 3 |
% 4x100mR 3 BEF 10/21
m & (B BIQ-ED Z0)AK BHD ML BIKE)
48" 81 5 |
Z 4x100mR 4 g 10/21 N
m = GEE =@M BEQ-Et K0)-E0 AEQ)
# 4x100mR 5 KEH 10/21 %07 32 6 |
(BF S2HEQ)-HE tEN)-EBR —1Q-5A 42Q)
+ 49”7 23 5 |
X 4x100mR 6 BAR 10/21) ek ERBQ- B BFQ- I BEQ KT H20)
PN 3" 567 73 1 | 3° 577 66 4
X 4x400mR 1 FRPERE 10722 et zo0)-2iE BEO) %A 260 258 FEQ)
- 3' 59”7 78 6 |
X 4x400mR 2 ERF 10722 | w+ gmo)-mi FR@-Hk B0 ST B20)
s 3 577 44 3 |
I 48
X 4x400mR 3 TEBRIBR 10/22) {5 g5k KIEQ INE CoB@) AR B
o 4 037 29 6 |
X 4x400mR 4 =¥ 10722 | egy () il TRk LAEQ)-Bd (1)
v 3' 58”7 73 3 |
X 4x400mR 5 LA 10/22 | wm wm)- sk BRIQ-87 BED-E) BED)
£ 4x400mR 6 RER to/22| __ 4" 027 10 7 |

(EF #EEQ)-1LF2) Tvh 35Q2)-#%E tE()-FH HLEFQ)




276 BAREFERBRFTARLBEEFERSER BE-BEA  1021~10.22
8 & = - FiE R

% B 12 )G {5z K % g 24 #iA A e | m sas2 -
= E =Bk 1 B =R BEX 2 | 10/22 DNS
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= = Bk 4 FH HE¥ ME 2 | 10/22 Tm 61 3
z E= Bk 5 Ny =S FEZELE 2 [ 10/22 1m 50 10
= = Bk 6 WO HE TEE 1 [ 10/22 1m 50 10
x  ESH 7 SH| @B PSR 2 [10/22 1m 50 15
Z  Eabk 1 Eig X AER 1 | 10/21 3m 72 1
Z EElk 2 He #iKF 2E 2 [ 10/21 3m 00 9
= Bk 3 ER B EHE %L 1 | 10/21 2m 60 16
Z EElk 4 BE EK =15 1 ] 10/21 2m 80 10
= Bk 5 FE K& =15 2 | 10/21 2m 80 10
LS - 6 BE SR JHIF2%:s 2 | 10/21 2m 80 10
= FE Mz Bk 1 b K BEX 2 | 10/21 +1.5 5m 79 1
x  Engk 2 it ERAES BXKRE 1 | 10/21 +0.3 5m 37 8
£ FENE Bk 3 Bl FIR E 25 2 | 10/21 0.0 5m 22 12
Z  EEBk 4 FE B =k;iiva 2 | 10/21 DNS
= 1 Bk 5 INAER FEZEELE 2 [10/21 +0.4 5m 10 15
2z EmEBk 6 T3 BB BEX 2 | 10/21 +0.9 5m 00 21
E=S =Bk 1 Bl FIR EE25 2 | 10/22 +2.5 11m 25 7
Z =ExBk 2 R BE B8]l 2 | 10/22 +1.7 10m 48 24
£ =Rk 3 BRIk NIy 2 | 10/22 +2.0 10m 93 14
Z =ExBk 4 M BE [UNITE:S 1 | 10/22 +1.0 11m 03 11
£ =Bk 4 Rt #E aF 1 [ 10/22 +0.5 10m 74 19
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x  fahiE 4 BB R ME 2 |10/22 9m 52 16
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£ i 6 EEH | T EE 2 | 10/22 9m 83 13
Z ik 7 IR BB AER 2 | 10722 9m 17 22
Z  fahix 8 B HEAE SL#HE 2 110/22 8m 52 24
= HAg% 3 IR FRE i) 2 | 10/21 35m 96 5
£ A% 4 R HH HEAA 2 | 10/21 30m 56 12
= A% 5 R B AE 1 | 10/21 286m 02 19
= M A% 6 AR B AR It 2 | 10/21 28m 51 17
= MAg% 7 KA TE&E Y alic] 2 | 10/21 27m 55 20
Z  MEE 8 WH Bx% E PR B 2 | 10/21 27 m 48 21
T N\ov— 1 A FRE IRE A 2 | 10/22 41m 94 4
T N\I—% 2 R BIF HEIELE 2 | 10/22 42 m 48 2
- S AYS 3 i BAHFE ARE 1 | 10/22 40m 65 7
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z U 7 N HAfI—& 2 | 10/21 33m 26 18
= oY 8 NE ¥BE FEZEEELES 1 [10/21 29 m 53 24




